
Structure of Spanish, LIGN 143 Spring 2012, Moore 
 
 

Homework 7 
due Wednesday, June 6th 

 
The following data show how clitic agreement works in the Río de la Plata dialect.  Write a 
short paper that describes this.  Your prose should address the following points.  Illustrate 
these with selected examples. 
 
Points to address: 
 
(i) What conditions determine DO clitic agreement 
(ii) What conditions determine IO clitic agreement 
(iiii) How this dialect differs from Standard Latin American Spanish 
 
Remember, ‘*’ means ‘ungrammatical’ and ‘?’ means ‘sort of odd’; everything else is fully 
grammatical. 
 
Data: 
(1)  a.  Pablo vio a Pepe.      (2)  a.  Pablo vio a Marta. 
  b.  Pablo lo vio a Pepe.       b.  Pablo la vio a Marta. 
  c. * Pablo le vio a Pepe.       c. * Pablo le vio a Marta. 
    ‘Pablo saw Pepe.’         ‘Pablo saw Marta.’ 
  d.  Pablo lo vio.         d.  Pablo la vio. 
  e. * Pablo le vio.         e. * Pablo le vio. 
    ‘Pablo saw him.’          ‘Pablo saw her.’ 
  f.  Pablo lo vio a él.        f.  Pablo la vio a ella. 
  g. * Pablo le vio a él.        g. * Pablo le vio a ella. 
  h. * Pablo vio a él.         h. * Pablo vio a ella. 
    ‘Pablo saw him.’          ‘Pablo saw her.’ 
  i.  Pepe fue visto por Pablo.     i.  Marta fue vista por Pablo. 
    ‘Pepe was seen by Pablo.’       ‘Marta was seen by Pablo.’    
 
(3)  a.  Pablo vio el espectáculo.   (4)  a.  Pablo vio la película. 
  b. * Pablo lo vio el espectáculo.    b. * Pablo la vio la película. 
  c. * Pablo le vio el espectáculo.    c. * Pablo le vio la película. 
    ‘Pablo saw the show.’        ‘Pablo saw the movie.’ 
  d.  Pablo lo vio.         d.  Pablo la vio. 
  e. * Pablo le vio.         e. * Pablo le vio. 
    ‘Pablo saw it.’           Pablo saw it.’ 
  f. * Pablo lo vio a él.        f. * Pablo la vio a ella. 
  g. * Pablo le vio a él.        g. * Pablo le vio a ella. 
  h. * Pablo vio a él.         h. * Pablo vio a ella. 
    ‘Pablo saw it.’           ‘Pablo saw it.’ 
  i.  El espectáculo fue visto por Pablo.  i.  La película fue vista por Pablo. 
    ‘The show was seen by Pablo.’     ‘The movie was seen by Pablo.’ 



 
(5)  a. ? Pablo pegó a Pepe.    (6)   a. ? Pablo pegó a Marta. 
  b. * Pablo lo pegó a Pepe.      b. * Pablo la pegó a Marta. 
  c.  Pablo le pegó a Pepe.      c.  Pablo le pegó a Marta. 
    ‘Pablo hit Pepe.’          ‘Pablo hit Marta.’ 
  d. * Pablo lo pegó         d. * Pablo la pegó. 
  e.  Pablo le pegó.         e.  Pablo le pegó. 
    ‘Pablo hit him.’          ‘Pablo hit her.’ 
  f. * Pablo lo pegó a él.       f. * Pablo la pegó a ella. 
  g.  Pablo le pegó a él.       g.  Pablo le pegó a ella. 
  h. * Pablo pegó a él.        h. * Pablo pegó a ella. 
    ‘Pablo hit him.’          ‘Pablo hit her.’ 
  i. * Pepe fue pegado por Pablo.    i. * Marta fue pegada por Pablo. 
    ‘Pepe was hit by Pablo.’       ‘Marta was hit by Pablo.’    
 
(7)  a.  Pablo pegó al1 escritorio.   (8)  a.  Pablo pegó a la pared. 
  b. * ‘Pablo lo pegó al escritorio.    b. * ‘Pablo la pegó a la pared. 
  c.  Pablo le pegó al escritorio.     c.  Pablo le pegó a la pared. 
    ‘Pablo hit the desk.’         ‘Pablo hit the wall.’ 
  d. * Pablo lo pegó.         d. * Pablo la pegó. 
  e.  Pablo le pegó.         e.  Pablo le pegó. 
    ‘Pablo hit it.’           Pablo hit it.’ 
  f. * Pablo lo pegó a él.       f. * Pablo la pegó a ella. 
  g. * Pablo le pegó a él.       g. * Pablo le pegó a ella. 
  h. * Pablo pegó a él.        h. * Pablo pegó a ella. 
    ‘Pablo hit it.’           ‘Pablo hit it.’ 
  i. * El escritorio fue pegado por Pablo.  i. * La pared fue pegada por Pablo. 
    ‘The desk was hit by Pablo.’      ‘The wall was hit by Pablo.’  

                                                             
1 Note: al is a contraction of a+el. 


